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NEW QUESTION 1
What are three well-known mandatory BGP attributes? (Choose three.)

A. next hop
B. origin

C. community
D. MED

E. AS path

Answer: ABE

NEW QUESTION 2

You have created a routing instance named vr3 that will provide access to Server 2 (10.0.0.2) (or the hosts on the 10.10.10.0/24 network. Which command would

you use to test connectivity between vr3 and Server 2?

A. user@vr3> ping 10.0.0.2 count 5

B. user@vr3> ping 10.0.0.2 count 5 source 10.10.10.1

C. user9routerl1> ping 10.0.0.2 count 5

D. user@router1> ping 10.0.0.2 routing-instance vr3 count 5

Answer: C

NEW QUESTION 3

Which two LSA types are permuted in OSPF totally stubby areas? (Choose two.)
A. Type 1

B. Type 3

C.Type 5

D. Type 7

Answer: CD

NEW QUESTION 4

Exhibit
M\ Exhibit ]
t3er@R1l> show bgp summary r
Threading mode: BGF I/0
Default 28GPF mode: advertisze - accept, receive - accept
Groups: 1 Peers: 1 Down peers: 1
Takle Tot Patha Act Fatha Fpreassed History Damp Statce Fending
A2TIBT . L
Pecr AS InPkT JULEXT it flaps Last Up/own
state|sActive/Feceived/Accapted/ Damps
b | 645 Ol Activ
ser@Rl> show configuracion iIting-opTzions
autonoTous-systex §4512;
user@rl> show configuracion protocols
bap ¢
group Internal |
type internal;
local=-address 192.168.200.1;
neighbor 1592.168.200.2;
|
¥

Referring to the exhibit, internal BGP between R1 and R2 is not establishing. What is the problem In this scenario?

A. R1 does not have a route to 192.168.200.2.

B. R1 and R2 must each have unique AS numbers.

C. R1 needs to be configured with an explicit router ID.
D. R1 needs to be configured with a next-hop self policy.

Answer: A

NEW QUESTION 5

Exhibit

S Exhibit

LSI1 A AS 65501 ISPB AS 65502

Advertised Prefixes: 172.20.0.0/24 172.20.20.0/24 172.20.21.0/24
\'N

Advertised Prefixes: 172.20.0.0/24 172.20.1.0/24
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R1 local preference = 100
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Referring to the exhibit, which two statements are correct? (Choose two.)

#
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RZ local prelerence = 200

A. Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.
B. Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.
C. Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.
D. Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

Answer: C

NEW QUESTION 6
Exhibit

M\ Exhibit

[edit reouting=opticns]
pserirlsd show
=tatic |

defaults |

preference 20;

next-hop 172.24.0.1;
preference by
[
route 172.24.0.0/24 next-hep [ 172.24.0.100
forwarding-table |

export lbpp:
[edit]
cerm 1 |

then |

load-balance per-packst;

usar@Rlg show policy-cptions policy-statement lbpp

Which type of load balancing is shown in the exhibit?
A. elastic load balancing

B. per-packet load balancing

C. per-flow load balancing

D. network load balancing

Answer: D

NEW QUESTION 7
Exhibit
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\ 203.0.113.0/24 is reachable
through AS 64514
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203.0.113.0/24 is reachable IBGP

through AS 64513 —@EE
R1 R3

You want the R1 and R3 routers to forward traffic destined to the 203.0.113.0/24 network through R2. Which BGP attribute would you modify to satisfy this
requirement?

b
b

A. community

B. origin

C. MED

D. local preference

Answer: C

NEW QUESTION 8

Exhibit
M\ Exhibit &
Ethernet header
IP header
TCP header
Payload

Service Provider MPLS Core

Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network from Site 1 to Site 2 as shown in the exhibit?
(Choose two.)

A. R2 will perform a lookup using the mpls.0 table.
B. R1 will perform a lookup using the Inet.3 table.
C. R1 will perform a lookup using the mpls.0 table.
D. R2 will perform a lookup using the inet.3 table.

Answer: A

NEW QUESTION 9

You want to enable a routing platform with redundant REs to switch from a primary RE to a backup RE without alerting peer nodes. Which two technologies would
you use to satisfy this requirement? (Choose two.)

A. GRES
B. VRRP
C.NSR
D. ISSU

Answer: BC

NEW QUESTION 10
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Exhibit.
M\ Exhibit ®
edic routing=-optlions]
usargroutart show
aggregace
: .
adlr SUCing=opTtions
igerfrouter § run show route protocol aggregat
&t dastinations, ites (2 active, holddown, 1 hiddan)
6.1 iestinaci e | 1t % (10 active, holddown, ¢ hidden
adls routing-optional
ari jtert r show té& hidden
&7 | destinatlona, 1tea (20 active, holddawn, hidden
* HI._"].‘ s ‘.'-r o ,1'_" r.'Ll.‘l "', - 1'_‘.-_
7 1 2 [Rggregate] 00:1 &
ira=é.0: 10 descinations, 10 roures (10 active, 0 holddewn, O hidden -

Referring to the exhibit, you have configured an aggregate route that represents the 172.21.0.0/24, 172.21.1.0/24, and 172.21.2.0/24 networks. However, when

you view the routing table, your new route hidden.
Which action would you perform to determine the problem?

A. Verify that you have active contributing routes on the device.

B. Verify that you have configured a policy on the device to accept aggregate routes.
C. Verify that you have defined a metric value for the aggregate route.

D. Verify that you have set the preference to a lower default value.

Answer: D

NEW QUESTION 10

Exhibit

aser@router~-re0> show system s?

Possikle completicns:
Services S W SeIVviCce 3;!’:11:5'&'.:!’: information
snapshot Show snapshot information
software Show lcaded JUNCS &xtensions
sStatistics Show statistics for protocol
sTorage Show loccal storage data

You have configured graceful RE switchover (GRES), however you cannot complete the show system switchover command.

Referring to the exhibit, what is the problem?

A. The command is only available if non-stop routing is enabled.
B. The command is only available on the backup Routing Engine.
C. The command is only available If a backup router is configured.
D. The command is only available If graceful restart is enabled.

Answer: B

NEW QUESTION 12

You are bringing a new network online with three IS-IS routers using default Junos election priorities. The routers are configured as Level 2 only I1S-IS routers.

Which statement is true about the DIS election in this scenario?

A. The router with the highest MAC address will be elected as the DIS.

B. The router with the highest numerical 100 IP address will be elected as the DIS.
C. The router with the lowest numerical 100 IP address will be elected as the DIS.
D. The router with the lowest MAC address will be elected as the DIS.

Answer: B

NEW QUESTION 16

You are asked to configure an LSP which uses the OSPF link state database for path computations. Which two statements are correct in this scenario? (Choose

two.)

A. You must use the no-cspf parameter in the label-switched-path configuration.
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B. Traffic engineering extensions ate enabled by default In OSPF.
C. Traffic engineering extensions are not enabled by default in OSPF.
D. You must use the policing parameter in the label-switched-path configuration.

Answer: AC

NEW QUESTION 20
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